1

PNCEERARIREFE2XESIE FA4SRTHFERMGE

¥ (GEREM2)

<ESHERGECLYVAMFELERTIRBEN NRHE L H >

<EEMNIMALLE.

1TE1MARBDA>

BEIME ¥
g
EF Fr
K % Ef
BRE1TMNABOEEESHFIZDINT
MEE1HMBEOTLESE
=3 A
REDFTLEEF (EH)
M [A]
QEMTE12AN0FELESE
SHTE12A0E LS SHRXE12A
(E#8) AIB]
Q)EADEIZDINT
(B— A )= B x 100 = % (1) 220%
1TOHBZ2AAARBDODRIAT ESZEHIZDOINT
M1 DEBZ 2 rABDODRAE LSS
SH2MHADELE F A £ A| 2»AHEO&EF
% (R2) = M M [c)
D102 DI3FEOFTLESE
%*Diﬂi‘l zﬁo) %*Di¢12ﬁ é%+
X 3 =
TEEE (£8) g A [D]
Q) iEALERIZDOINT
{[D— (A+C)}+Dx 100= % (A) =220%




